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(17 - 13) x 4 = (8 + 3) x 4 = 

32 ÷ (2 x 8) = 32 + 4 x 3 = 

W a l d e n   G r e e n   M o n t e s s o r i   -    M a t h   T a s k   C a r d s



5 6 
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(12 - 3) x 3 = (18 + 3) ÷ 7 = 

64 ÷ (3 + 5) = 17 x 2 - 18 = 
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31 - (4 + 6) x 3 = 9 - 42 ÷ (6 x 7) = 

(43 - 3) ÷ 4 ÷ 5 = 2 x 16 - 54 ÷ 9 = 
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 [3 + (8 + 3)] x 4 = 33 - [(15 + 2) - 14] = 

[29 - (9 + 8)] ÷ 2 = 2 + 3 x 16 ÷ 4 = 
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{5 + [(18 - 2) ÷ 8]} x 3 = {[(10 + 8) ÷ 6] - 1}3 = 

10 - {3 x [3 - (7 - 5)]}2 = 16 ÷ {3 + [1 + (9 - 7)2]} = 

5.OA.1 5.OA.1 

5.OA.1 5.OA.1 
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